Physics 460 Fall 2006 Susan M. Lea

Let’s start oo by reviewing what we accomplished in Physics 360. We
learned how to investigate the behavior of electromagnetic systems that are
constant in time. We derived Maxwell’s equations in the static limit. They
are:

Coulomb’s law (Gauss’s Law) V-E= Eﬁ )
0

Gauss’s Law for B : V-B= )

VxE = 0 ©)

Ampere’s Law V x B =p,j 4)

We used these equations to derive the potentials V' and A and the equations
they satisfy:

- Loviy-_L
o €0
VB = 0=B=VxA
VxB = poj= V(¥ A)-v2i=—pf

Here we add the Gauge condition
Coulomb Gauge: V-A=0

to obtain
V2A = pyg
If we use Cartesian components, each component of A as well as V satisfies

Poisson’s equation:
V? (function) = (source)

In a region where the sources are zero, we have Laplace’s equation:
V2 (function) = 0

and we learned how to solve this equation making use of boundary conditions
at the edges of the region.
We also derived expressions for the electric energy density:

1
ug = EEOEQ

and the charge conservation equation

E#—V-]zo 5)

Finally, we showed how to use the auxiliary fields D = ¢E and H = B/u to
simplify discussion of fields in media.

Now it is time to expand our discussion to allow for time variation in the
sources and the fields: we are to study Electrodynamics.



1 Current and resistance
1.1 Current

We start with some practical examples of systems where charges are moving.
Every current consists of moving charges. As we found in Physics 360 (see
360notes12)
f = nev

where n is the number density of charged particles, e the charge per particle, and
v the velocity of each particle. Conductors are systems than contain charges
free to move under the application of applied forces. Such systems usually
exhibit resistance. Like mechanical systems with friction, a force is needed to
start a particle moving, and the moving particles may reach a constant speed
with the applied force balancing the frictional force. The electrical systems
reach a state with constant current

N
j=o—=0of
q
where .,
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is the force per unit charge. The constant of proportionality o is the conductivity

1
og==
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and p is the resistivity. The resistivity of a good conductor like copper is
around 10~8 Q-m; for semiconductors like silicon the value is around 103, while
for insulators like wood the value is around 10!,

While any force can in principle cause a current, we are going to be interested
in electromagnetic forces:

so that
j:a(EJrﬁxé) (6)

This relation is often called Ohm’s law, although strictly it is not. What
Ohm actually stated is that resistance is independent of current. This result
follows from equation (6) if o is independent of current. This is almost true
for materials like copper, as we shall see. In most ordinary conductors we may
often ignore the ¥ x B term because v is small (<« ¢), and the evcects of B are
often balanced by additional components of £ (as in the Hall enect- see below).



1.2 Resistance

Let’s find the relation between the resistance of a circuit component and its
fundamental properties (shape, size, material). Let the resistor be made of

uniform material of resistivity p, and have a length ¢ (parallel to E) and a
cross-sectional area A that is constant along its length. Then the current may
be expressed in terms of the current density as

I=3jA
(Remember: current = flux of current density)
I =jA=0FEA

Now we may express F (assumed uniform along the length ¢) in terms of the
potential dicerence:

AV
E=—
l
and so A
g
[ =—AV
/
or .
AV =T (—”) — IR @
A
a more familiar version of "Ohm’s Law". Thus the resistance is
/
R=p— 8
3 ®)

It is easy to understand this result: like water flowing down a pipe, current flows
more easily when the area of the "pipe" (the circuit component) is greater, and
less easily when the length is greater.

We made quite a few assumptions here, and we should verify them. First,
is the electric field uniform? We would set up the circuit by applying a fixed
potential dicerence AV using a battery or generator. Once the system reaches
equilibrium, which it will do in a time of order ¢/c, that leaves us with a static
boundary value problem to solve. Let’s ground one end of the resistor for
simplicity. Then we have

V = 0atz=0
Vi = Vyatz=1/¢
and
2 Pq
VYV =-—
€0

where | have used the subscript ¢ on the charge density to distinguish it from
resistivity. But what is p,? Well, we found that in a static situation without
currents, the charge density is zero inside a conductor. If the currents are



steady (we have reached equilibrium) then the charge density, zero or not, is
also constant. But then, from charge conservation (eqn 5)

Lo g 5.5 (oF)

and if the material is uniform so that ¢ = constant, then, using equation (1)

0=V (0F) =0V E = g
€o

Then the charge density is zero, and so V satisfies Laplace’s equation. In

addition, current flows along the cylinder, but not across the boundaries into

the space outside, so

j'ﬁzaﬁ-ﬁz—aﬁ-ﬁ‘/zo

Thus either V' or its normal derivative is known everywhere on the surface of
the resistor, so the uniqueness theorem tells us that there is one unique solution
for the potential. A simple solution that satisfies all the conditions is

z
V:VOZ

with a uniform E .
E=-VV = —VO%
as we assumed above.
We have proved a very powerful theorem:

In a material of uniform conductivity carrying a steady current, the charge
density is zero.

Note that this does not prohibit non-zero surface charge density on the
boundaries, and in general these surface charges are necessary for a self-consistent
solution.

Now let’s investigate what happens when the cross-sectional area is not a
constant. Suppose the circuit component is a cylindrical shell with radii a < b,
and we apply the potential dicerence so that the inner surface at s = a has
potential V, and the outer surface at s = b has potential zero. Then the
appropriate solution of Laplace’s equation is (360notes8 page 8)

V=Clns+ Cy
TogetV=0ats=bandV = 1j at s = a, we choose the constants as follows:

= Yo ln£
Ina/b b

with electric field vos Vs
F=-Vv=-—2Z2__20°

“lna/bs Inb/as



where the second expression has Inb/a > 0, and thus shows that E points
outward. The total current through a cylindrical surface of radius s

V4 2
/j’-ﬁdAza/ / E-§ sdfdz
0 0
¢

VO ) sdf . VO
Jlnb/a s _Ulnb/a i

1

The result is independent of s, showing that the current is constant throughout
the resistor, as expected. The resistance is
po AV _ Y b lnba
I 2malV Sy

Gri¢ths’ Example 7.2 introduces the charge per unit length on the cylinder,
which is unnecessary and involves the additional assumption that the electric
field inside the inner cylinder is zero. If the field for s < a is zero, we could use
our solution to find A from the given value of 1.

Both Gri¢ ths and LB discuss the "Drude™ model for conductivity, and you
should definitely look at it, bearing in mind that modern quantum theories are
quite a bit dicerent. Graduate students should look up what Feynmann has to
say on the subject.

As a result of the many collisions undergone by the moving electrons, the
work done by the battery increases the thermal energy of the resistor. The
amount of charge passing through potential dicerence AV in time ¢ is

Q=1It
and the work done by the battery is
W = QAV =TtAV
thus the power delivered to the charges is

14 5 R?
P_T_IAV_IR_H
This power serves to heat the resistor, thus increasing the temperature and
changing the resistance. This emect is used to advantage in electric toasters,
hair dryers, and light bulbs, but is a nuisance in TV sets, for example. It is
sometmes called Joule heating.

We should remember several important facts from this discussion of steady
currents in circuits.  First, each circuit has a self-consistent distribution of
charge, with resulting fields and potential diserences. Charge densities occur
only where the electrical properties change— usually at the surface of wires,
the ends of resistors, and similar places. As we saw with conductors in Phys
360, each charge moves a tiny distance to establish the equilibrium, and the
timescale to establish equilibrium is the time for the fields to adjust, equal to
(length scale of system)/(speed of light). The self-consistent fields serve to
distribute the ecects of batteries, for example, around the circuit.



2 EMF
2.1 Batteries

The influence of the external agent that drives the circuit (battery, photvoltaic
cell, whatever) is often described by a quantity called EMF or elctro-motive
force. It is not a force at all, but the line integral of the force per unit charge

around the circuit:
£ = ffext . dg

Once the circuit reaches equilibrium (very fast! see above), the self-consistent
electrostatic fields don’t contribute, because (eqn 3)

ﬁxE:O@?{fidizo

Thus & reflects the contribution of the external agent.

For an ideal battery with zero internal resistance, the net force on the charges
inside the battery is zero. This force has two components, one electrical and
chemical, so they have to balance.

terminal b . . .
/ (E+fext)-dE:O
t

erminal a

So the potential dicerence across the battery is

terminal b . . terminal b . .
v = [ Boai-- | foxt -
terminal a terminal a
terminal b . . terminal b N .
= _/ fext - dl _/ fext - dl
terminal a,inside battery terminal a,outside batteryt

- ff;xt-dé'zg

where we used the fact that f.x; = 0 outside the battery to add the extra (zero)
term in line 2. See LB §26.1 for batteries with internal resistance.

2.2 Motional emf

Motional emf arises whenever a conductor moves through a magnetic field, and
is the basis for simple generators. To see how it works, let’s consider a simple
rectangular loop with a resistance R on one side, as in Gri¢ths Figure 7.10.
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On side ab, every electron in the wire experiences a magnetic force per unit
charge
fmag =0 x B=vB[& x (—2)] =vBj

Thus we have an EMF at the instant shown of
£ = %fmag -dl = vBh

where the integral was taken clockwise around the loop. There is no contribution
from other segments of the loop because either B = 0or ¢x B is perpendicular
to dl. This emf drives a current clockwise around the loop. The segment ab
then experiences a magnetic force due to the current of

b
F = / Idl x B = IhB (—)

Segments bcand da experience forces too, but they are equal and opposite, and
sum to zero. Thus the net force on the loop is in the minus-z direction, and
if nothing else is done the motion of the loop stops, the EMF— 0, and the
current— 0. But if we pull the loop to the right with a balancing force

Foun = —Finag = IhB#
we can keep the motion going. We have to do work at a rate
P = Fyuy -7 = IhBu
The electrical power expended in the circuit is

P=I1?R=1€ = IvBh



The two powers are equal, as they must be. Remember: magnetic force does
no work!

Motional emf occurs whenever the size, shape or orientation of a loop changes
and a magnetic field is present. It is one example of Faraday’s law, which may
be expressed in the more general form

d®p

€l ==

©

(Notice the absolute value signs!) The magnetic flux through the loop is
dp = /B’- i dA

where the integral is over a surface spanning the loop and 7 is the usual normal
to the surface element dA. In our case, with normal chosen into the paper (the
— 2 direction, parallel to B) we have

(I)B = Bh (—ZL)

(Notice that =z is the location of side ab with respect to the edge of the magnetic
field region, and is negative). Thus

dq)B dzr
T = _BhE = —Bhv

Thus we get the right value for |£|. Putting the signs back, we have

5=?{f’mag-diz_%=—% B-ndA (10)
where now the directions of 7 and d/ are related through the usual right hand
rule.

The time derivative of flux is non-zero if B changes, # changes or the area
changes. In our case the area with non-zero B is decreasing. But when B
changes we don’t call it motional emf any more.

Equation (10) is the integral form of Faraday’s law, and it includes the
case of a static loop with changing B as well as the motional emf’s we have
already discussed. To use it correctly, you must choose a direction for d¢ (that
is, a direction for going around the loop) and then choose the direction for the
normal 7 according to the right hand rule. Equivalently, you can use equation
(9) to relate the magnitudes of the emf and the rate of change of flux, and use
Lenz’s law to get the directions right.

Lenz’s law: The induced emf opposes the change that creates it.

Lenz’s law is a statement of energy conservation: without it we could build
perpetual motion machines that would run forever without any energy input.



When the loop is stationary but the magnetic field changes, there is no
magnetic force because ¢ = 0. So what causes the emf? It is an electric field:
an induced electric field whose source is the changing B. In this case the emf is

gz%ﬂnd 'dz

Now for the static (or Coulomb) electric fields we have previously discussed,
according to equation 3,

%Ecoulomb . d[: 0

So we can add Egouiomp to get

£ = % (E_:ind + Ecoulomb) ' dZ: 7{ Etotal . d[ (11)
C C

and then Faraday’s law becomes

- 4
é’:%Emta.-dé:fa/B% dA (12)
C

But here it is important to note that the electric field is measured in the rest
frame of the line segment dZ. It is the electric field felt by an electron in the
wire that would actually cause the electron to move.

It is important to note that equation (12) applies to any curve C' whether
or not there is actually a wire there. It there is a conducting wire coincident
with the curve, the emf will cause a current to flow. If there is no conducting
wire, the induced electric field still exists, but no current flows.

2.3 Calculating induced electric field

The method for calculating induced electric field is outlined in LB §30.4. As
with the use of Gauss’ Law and Ampere’s law in integral form, we can only find
the induced E when there is su@¢cient symmetry. Let’s look at an example.

A solenoid with »n turns per unit length carries a current I that is increasing
at a constant rate dI/dt. The field inside a uniform solenoid is uniform and
parallel to the solenoid axis, with magnitude B = p,nl. Thus as I increases,

B increases too.
dB dl

a0
Equation (12) shows that the induced field bears a similar relation to its source
(changing magnetic flux) as magnetic field does to its source (current)

]{é.dizuo/iﬁm

(]



There is a sign dizerence, which means that Eind curls arouncithe changing flux
according to a left-hand rule. Thus our solenoid produces £ in the same way
that a wire with uniform j produces B : the field lines form circles centered on
the solenoid axis. If we rotate the solenoid about its axis, the picture doesn’t
change, so E = Ey (s) 0

B

linorsasing

uI!g:mil ive

i JF ,
Y
s el
~czn=k
3L

ra) T

Then we place a circle with radius s centered on the axis of the solenoid,
and go around it in the direction shown in (b).

—

E-dl = 2rsEy
C

With this choice for going around C, n = 2, and the flux is

(I)B = 7T$2B
then Faraday’s law becomes
dI
2rsEg = —ms” prgn=—
TSLLh ™S8 [to’ndt
and i
S
Ep = —=pgn—
o 20

The direction of £ is —f, as shown in the diagram. Notice that if we put a
wire loop in the location of our curve, current would flow in the — direction,
and that current would produce B in the —# direction, thus reducing the rate
at which Binsige increases. This is required by Lenz’s law.

Something interesting happens if we use a wire loop with a small gap of
width w in it (see LB pg 970). Now current cannot flow continuously because of

10



the gap. There is a burst of current as we begin to increase I, and that current
causes a build-up of charge on the surfaces of the wire, including the cut ends.
E
A i
fp—

£,

N

Once equilibrium is established, the net electric field inside the conducting ma-
terial is zero: . .

Eind + Ecoul =0
and thus

Ecoul = *Einduced

The induced electric field is the same everywhere on the circle, but the Coulomb
field changes direction in the gap, because

7{ Ecoul : di: 0
circle

Thus the total electric field is very large in the gap. Applying Faraday’s law:

/ Etotal ' d4
gap

_, dl
E LAl = 2 _——
j{ totall TS™ T 0t

circle

= Etotal,gapw
and
s pgn dl
w dt

Heinrich Hertz used a device like this as an antenna in his discovery of EM
waves.

Etotal,g ap —

2.4 Direrential form of Faraday’s law

Now we want to get the dizerential equation that coresponds to equation (12).

4 N
g:fEtotal'dgz_E/B'ndA
C

11



We start with a curve that is at rest, so the only thing that is changing is B.
Then we can move the time derivative inside the integral on the right, and apply
Stokes’ theorem to the integral on the left:

Lo ) o -
f(VXEtotal)'ndAZ—/aB-ndA
c

Since this relation applies to any curve C, we must have

—

VxE=

—

“ot

This equation replaces equation (3), which is valid only for static fields.

To extend this to moving curves, let’s start with a curve that has a uniform,
constant, non-relativistic velocity . There is an additional contribution to the
change in flux as the curve moves to a region with a dicering value of B. Using
a Taylor series expansion, we have:

(13)

B(7+ 67) = B (7 +36t) = B (7) + (aﬁ) Bot+ -

Thus ~ . N L
B(i+67) — B(7) =0 =(3-V) B ot

to first order in 6¢. Thus the change in flux due to motion of the curve is:
5, :/5§~ﬁdA:/ (7:9) B4 aast
S S

and hence
d

=, = /S (17 6) B-idA

due to motion of the curve. Adding the two contributions, we have

o - N -
:/—B-ﬁdA+/(ﬁ-V)B-ﬁdA
total Sat S

and applying Faraday’s law:

_ 5 0 - S\ -
E’-dﬁz—{/—B~ﬁdA+/ v-V B~ﬁdA}
?40 s Ot s( )

Remember: the electric field £’ is measured in the rest frame of d7, i.e. the
frame moving with velocity ¢ with respect to the lab, and B is measured in the
lab frame.

Now we want to convert the last term on the right to a line integral, so we
use a result from the cover of Gri¢ths:

d
—3,,
dt

vx(gqu):(av)g_(év)mé(v.v)_5(6.5)

12



But here we have chosen " to be constant, and from the second Maxwell equa-
tion, V- B =0, so only the first term on the right is non-zero:

ﬁx(éxﬁ):(ﬁ-ﬁ)é

{/—B ndA+/SW (E )]-ﬁdA}
/—BndA /C(é 7). dl

where we used Stokes’ theorem again in the second step. Comparing with
equations (13), we may replace the integral of B with a line integral involving

E in the lab frame!:

B di=§ Beais § (o3 B)-ai= f Faf

where again the result is true for any curve C moving at constant velocity o'
Thus we obtain the transformation law:

Thus

S~
&y
o
Sy
I

E'=E+3xB

The result is consistent with the Lorentz force law, and with our previous dis-
cussion of motional emf. Thus we have established that the constant of pro-
portionality in Faraday’s law is linked to the transformation properties of the
electric field. We’ll discuss this further later in the semester.

2.5 More on potential

Now that we have changed equatlon 3 to equation 13, we must rethink our ideas
about potential. Since V x E is no longer zero, we cannot conclude that E is
the gradient of a scalar function. But equation (2) still holds, so we may still
conclude that

Now we insert this into Faraday’s law:

Thus

Lstrictly, we must apply Faraday’s law to a curve C’ at rest in the lab that instantaneously
coincides with the moving curve C.

13



Now we can conclude that the vector

L 9A
E 4 —
i
is the gradient of a scalar function:
. 0A -
E+—=-VV
ot
and thus .
- 0A

E =-VV - E = Ecoulomb + Einduced

We can confirm this decomposition of £ by re-inserting this expression for E
into Gauss’ law:

o 4 . 0A
V- E = —V2V—V-—t
_ vy _le gL
ot €0

If we use the Coulomb gauge as we did in the static case, then V- 4 = 0, and
we get

This confirms that the source of V is the charge density, and thus —VV is
the Coulomb field. We may not always want to use this Gauge condition in
time dependent cases, and we’ll have more to say about this later, but the
decomposition still holds. B

This mathematical decomposition of £ into induced and Coulomb fields is
very useful, but of course if we put a test charge down and measure E as
F/Qtest we’ll measure the whole E : we won’t be able to measure any dicerence
between the two kinds of E. It is important to remember that only Coulomb
fields contribute to the scalar potential V' :

B
Va—Vp = / Ecoutomb - d?
A

Now let’s return to motional emf and see how this plays out.

14
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First look at a simple circuit with a battery and a resistor. In this circuit power
flows from the battery and is used in the resistor (we’ll worry about how it gets
there later). There is a potential dinerence across the resistor: AV =R =¢.

Now look at a similar circuit in which the power source is a person pulling
a conducting rod on conducting rails through a magnetic field:

I .
= —x
Q0B Q6 ® a6 ‘
F\! |4 vxB
¥
i V| 1
@ OB QO

) I

no resistance” D

There is a motional emf of magnitude £ =¢vB. But the net electric field
in the conducting rod on the right must be zero, so the magnetic force drives
charges to the sides of the circuit as shown, positive on the top and negative on
the bottom, leading to the production of a Coulomb electric field that in turn
produces a potential dicerence across the resistor at the left. It is the electric
field that drives current through the resistor.

Now we change the situation just a bit, by moving the resistance to the

15



moving rod, as shown below:

- T —— i I y
RO ®@006 T

!
Q0 6 @ 1 e AR
| v

eco00 || ©00 |

resistance R *

The net force on a charge in the resistor is the magnetic force F = ¢o'x B, and it
is this force that drives currentin the circuit. There are no charge distributions,
no potentials, and no Coulomb electric fields. The netemf is of course the same
as in the second circuit, but because the power is used in the same place as it
is produced (in the moving rod), there is no need to transfer energy to another
place in the circuit. The potential distribution in a circuit shows us how energy
is stored and redistributed throughout the system.

3 Inductance

Capacitors are devices that store energy — electric field energy — in circuits.
There are equivalent devices for storing magnetic field energy. They are induc-
tors. Here’s how it works. Suppose we have two current loops, one carrying
current I; and one carrying current I,. Each loop produces magnetic field, ac-
cording to the Biot-Savart law. The magnetic field produced by loop 1 threads
through both loop 1 and loop 2. Bj is proportional to I :

and thus the flux of J§1 through loop 2 is also proportional to I :

S dly xR .
(DQduetol:/Bl'ndAQ:%Il/ (7{ 12 )'"dA2:M21I1
S T S, R

2

The constant of proportionality is called the mutual inductance M,;. We can
express it more nicely using the vector potential and Stokes’ theorem:

(I)Zduetolz/ glﬁdAQZ/ (ﬁxA})’IA’LdAQ:‘%A’leQ (14)
S2 Sa2
C2
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But we already have an expression for A

A’l — &Il h
4 R
C1
and thus S
dal -
Mgljl = ﬂ[ ?1 -d 2
Ca2 C1
and thus S
Ho dél . CMQ
Moy = =— —_— 15
w-btf f o (15)
Cy Cy

It is immediately clear from the symmetry of this expression that it doesn’t
matter which loop is labelled one and which is labelled two:

My = Mio =M

and it is also true that M is a purely geometrical property involving the size,
shape and relative position and orientation of the two loops.

Now if we change I;, we will change the flux of magnetic field through loop
2, and so there will be an emf induced in loop 2:

_ |42

dl;
&l = =1
(2] = =

dt

Of course the flux through loop 1 also changes, and so there is also an induced
emf in loop 1.

Cdey| |dn
&0 =] = ‘dt

where L is the self-inductance (or just inductance) of loop 1.
We can estimate the inductance of a very long solenoid of length ¢, area A
with N turns. The field inside is uniform and equals

B = pgnl
The flux through the solenoid is
& = NBA = pynNAI

and thus the inductance is

(16)
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4 Magnetic energy

Since the induced emf opposes the change that creates it (Lenz’s law), the
current in a circuit cannot jump instantly to its final value: it has to build up
slowly. Let’s look at a circuit with a resistor and an inductor (coil) and a
battery with emf &,. If we want to apply Kirchho=’s loop rule, we can only
use values of potential V, not induced emfs. But if we model the coil as made
of perfectly conducting wire, then the total (Coulomb plus induced) field inside
the wire is zero. Thus . .
ECouI = —Einduced

and integrating along the wire we get

b b
/ ECouI ~dl = _/ Einduced -dl

or i
Vo — Vi = =Einduced = LE

To be sure we have the signs right, let’s review the physics. The induced electric
field tries to oppose the increase of I in the direction of d¢, so the Coulomb field
points in the same direction as the line segment d¢, and since V' decreases along
field lines, the potential is higher at the end « of the coil at which the current
enters, and is lower at b where the current leaves.

Now we are ready to use the loop rule:

dI
S~ IR—L=—=0
0 dt

Choose a new variable + = I — &,/ R. Then since &,/R is constant,

L dx
R dt

which has solution

T = xoe_Rt/L

Attimet:O,x:mO:Of&)/R, SO

&o Rt
I— EO/R = —E exp <_T>

5o (-2)

The current exponentially approaches its final value Iy = &/R. The timescale
7 = L/R governs how fast it approaches the final value. While it theoretically
takes infinite time to get to I, within 37 the current is within e=3 = 5% of the
final value.

and
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Now as the current is building up, the battery is pumping energy into the circuit

at a rate 52
Rt
&mmy=&1=7gb—em<—zﬂ}

and the resistor is using energy at a rate

&y Rt\1?
Presistor = I’R = ?S [1 — exp <_T>:|

and these two rates are not the same. After a total time 7', the energy put out
by the battery is

T 2 T
& Rt
Ubattery = / Pratterydt = ??/ [1 — exp <—T>} dt
0 0

g2 L re\ "
_T —  —
R +Rexp< L)()

- G- £ (7)1

while the energy used by the resistor is

T g [’ t
i = Presistordt = == 1 - — — dt
Uresistor /(; resistor R J, [ €xXp ( T :|
2 T
& <_Qﬂ>] &
L

Rt
= 1-2 - +
R J [ “p( L) eX
T
L

G () ()]

So we have
&2 RT RT
Ubattery — Uresistor = Q_I%QL [1 — 2exp <—T> — exp <—QT>:|
1
= LI 17)
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This energy is stored in the inductor in the magnetic field. Indeed using equa-
tion (16) for the inductance of a solenoid,

1 NONZA 2
-]
2 !
1 M0N2Al 21 272
= 5 I" = ZHom v

1 B?

= =—V=ugV
2 pg

where V = Al is the volume of the solenoid. Thus the magnetic energy density
is

AU =

1 B2
up = ==— (18)
2 o
and thus the total energy ensity is
1 , B?
We can get this result more generally, starting from (17) and using (14)
1 1 I - oo
==LI’==dl==¢ A
U 5 3 5 7{ de

Now recall that we can get a more general expression by replacing 1d¢ with jdr.
Then

:%//f-jdr (20)
and then from Ampere’s law (4)
U:;TO A (VxB) ar
But
6-(21’><§):§-(6><A’)-A’-(6x§)
K U:% (B (V% A) -9 (4xB)] ar
0

We use the divergence theorem on the second term to get

U:;TO[/VB’-BdT—/S(/Yxé)-ﬁdA]

The integral is over all space, and as long as our current is confined to a finite
region, then ‘/T‘ — 0 at least as fast as 1/R? and B goes as 1/R® (Remember
rule one for magnetic fields- the dominant term is a dipole!) Thus the surface
integral is zero, and we have

1
U==— [ B%dr
2ug Jyv
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5 Maxwell’s equations

The equations we have derived so far are

Coulomb’s law (Gauss’s Law): V-E= ﬁ (22)
Gauss’s Law for B V-B=0 (22)

Faraday’s law : VxE= _88_? (23)

Ampere’s Law : V x B =) (24)

There is a nice symmetry about equations (21) and (22), once we remember
that there are no magnetic charges. But we seem to be missing something in
equation (24) because there is no time derivative. In fact we can prove that
something is missing. Take the divergence of both sides:

(¥ xB) =7

The left hand side is zero, because the divergence of a curl is always zero. On
the right hand side, we use the charge conservation relation (5) to get

7
()

which is clearly false if 9p/9¢ is not zero. We can see how to fix the problem by
taking the time derivative of equation (21):

w3 -m(9E)

Thus if we add a term pye00E /8¢t we will have a fully self-consistent set of
equations, and a nice symmetry in the two curl equations.

. - OE
Ampere-Maxwell Law: V x B = pgj + HoSo—= (25)
The new term eoaé/at is called the displacement current. Maxwell was the
first to notice the discrepancy and fix it, and so the law is now named for him
as well as for Ampere.

5.1 Maxwell’s equations in matter

We have already introduced the fields D =c¢E = soff +Pand H = g/u =
u—i — M and showed how they can simplify the static form of Maxwell’s equations
by allowing us to ignore the explicit dependence on bound charges and currents.
We obtained:

VD=,
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while the equivalent magnetic equation needs no change:

- —

V-B=0
Faraday’s law does not involve charges and currents, so it is also unchanged:

. - 0B
VXE=——
% ot
But Ampere’s law involves change of E, which is related to change of bound as
well as free charge.
Recall that o
pp=—V-P

If we look at a tiny volume of polarized material, it will have a surface bound
charge density o, = P -7 at each end. If we now let P change a little bit, the
charge on each end also increases a little bit, as if a current flowed from one end
to the other:

B

=777

By
=

I6t =jp-h dASt = dopdA = 6P -1 dA

Thus the "polarization™ current is

- 9P
= 5

This current satisfies the same charge conservation law as regular current:

—

. - - 0P
v-jp:v~E:

(=ps)

Yo

Thus we have four contributions to current:

conduction ("free") current due to moving charges: ff

magnetization current:  jmag = V x M
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polarization current: j, =

==

. oF
displacement current: EUE
Putting all of these into Ampere’s law, we have
=3 = = = = aE
VX B = po|Js+ jmag +Jp + 05
. & - 0P OE
= iV X M 4 — _—
Mo (jf+ X M + o1 + &0 8t>

Now we combine the second term with the LHS and the third term with the
last term, to get:

. B .0 /= .
Vx|—-M| = j+=—|(P E
X(Mo ) ]f+at( +€0)
Sxil = j+2P (26)
AT

5.2 Boundary conditions for time-dependent fields

We do not need to rederive the boundary conditions for the divergence equa-
tions since they have no time-dependent terms. (Remember divergence— tuna-
can—bc for normal component) With 7 pointing from medium 2 into medium
1, we had

(51—ﬁ2) ﬁ:O'f
and

B - 7 is continuous
Now we have to look at the curl equations. Once again the rule is curl—rectangle— bc
for tangential components. Starting with Faraday’s law:

/ (Vx B) - Naa= - 98 Naa
rectangle ot
M
:& t
g

s
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We use Stokes’ theorem on the left, to get

—

- - - - “ oB -
/ Bedl = (By— By) it = ——= Ntw
rectangle ot

Now as we let w — 0, the RHS— 0 because 9B /8t must remain finite. Thus
we obtain the same relation as before:

(El - Eg) x A is continuous

where { = 7 x N. Finally we look at the Ampere-Maxwell law:

/ (6 x ﬁ) - NdA / <§f + iﬁ) . NdA
rectangle rectangle ot

N . . 9D -
— (H - 1) it = z/gfdw-N— — New
N . . 9D .
— Hl_HZ).t = Kf.N_W.Nw
where
Kf:/jfdw

is the surface free current density, and again the second term on the right — 0
as w — 0, since the time derivative must remain finite. Thus

—(# - )i = Ry (ixn)

So, since t is arbitrary,
H1 — HQ = Kf X N
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